TECNOANUTO DNC #IS064311FESil A1
DNC Series 1S06431 Standard Cylinder
ASESORAMIENTO Y SERVICIOS
| DNC 32x100|
1] Ordering Code
Fl — — |e3] x [50] — 28] — |[s — LB
SR RIS i 7 E%R HERE EEER Fixed Type
TEAER DNC:ISOB4IE I B R B Cylinder Bore Stroke Adjust Storke =FH FRAIE = % 2 Blank:Normal type
T:48 #F R¢ DNCD:ISOB431iG MW s 25:25mm S LB: W& @ s LB:front and back fixed type
MR E R DNCJISOB431 T 8417 15 8T i A 50:50mm Magnet Code FAMBEES (W)  FAtront cover fixed type
Tube Type Series Code 75:75mm Blank:Without Magnet FB:SEEER (BiZ2)  (Fronl Nange type)
Blank:Square Type DNC:IS06431 Standard S:With Magnet CARRMEES (RIIF)  FBiback cover fixed type
T:Tia-rod Type Double Action Type CB:A EMES (FE) (Back flange type)
M:Mickey Mouse Type DMNCD:1S08431 Standard Two SDB:E EMES(HITK) CAback cover fixed type
Axis Double Action Type (Single Earring)
DNCJIS06431 Two Axis CB:back cover fixed type
Stroke Adjust Type (Double Earring)
SDB:back cover fixed type
A 8B £5 8 Internal structure
g E% FF< E
NO. Designation NO. Designation
1 & AT 8 /Piston Rod Nut 2 i& M4 /Piston Rod
3 il % B &2 [/ Front Cover Seal Ring 4 & id4lRk/Bearing
5 il #/Front Cover 6 £ #hE H @/Buffering O-Ring
7 HE0%/0-Ring 8 i& 347 % #3 M/Pistion rod O-Ring
9 & ®O%/Piston O-Ring 10 H# k(7] i )VMagnet(Optional)
11 i [ EF/Wear Ring 12 51 fli/Barrel
13 i% % /Piston 14 £ ¥t % # @/Cushion Seal
15 715§t /Cushion Needla 16 I5 & /Back Over
17 M55 M2 /Hex Socket Screw 18 i % E E % 8/Profile Bolt
#1#% Specification {7#2 Stroke
P #2/Bore(mm) 32| 40| 50 | 63 | 80 (100 125 A/ HREITIR HihiTiz i A {7258
# £ & ®/Motion Pattern 2 51 38 4 % *UFitered Air Bore Standard Stroke  Buffer Stroke Stroke Range
I 1% 4r F/Working Medium L &h/Double Action 32 -
it FE 3234 [ 1/Compression Pressure 1.5MPa 40
1 %5 {# FA I h/Max.Operating Pressure 1.0MPa 50 330 4?22‘3123 2
{6 T FE 1/Min.Operating Pressure 0.1MPa 63 200 250 320 10~2000
4 ih/Buffer 2 4§ ik (4. 3#) /Air Buffer(Standard) 80 400 500 &
I 4 i E/Condition Temperature -5~70C 100
{# A i% ¥ /Operating Speed 50~800mm/s 125 35
{46 0 1%/Port Size Gi/8" G114 Gas" Gi/2*

HIDRAULICA - NEUMATICA - ELECTRONICA
(O 1135852811  “@* 1142411370. 1142254987

| www.tecnoautomat.com
Direccion Rio de Janeiro 2740 Lanus Bs.As.



4
TECNOAUTOW

ASESORAMIENTO Y SERVICIOS

$pE: R~ Overall Dimensions

DNC R5IS06431#F#SII
DNC Series 1IS06431 Standard Cylinder

A2

AT [ Normal Type DNC-S

ZB+{T 1 (Siroke)

L2 L3+{TH(Stroke} L&
WH
= w -t £E
iT:1
| 5| vl b e
4] o 1
e & o113
ﬁm/ m e
Rt % Dimension Sheet
Mi2/Bore AM B D2 | D5 D7 E EE[G) J3 | J4 KK L2 | L3 (L4 (L5 L6 | LY | LB |SW1/SW2 VD WH | ZB
32 22 30 12 | 325 M6 45 1/8 ] 52 M10x125 416 628 4 26 16 | 33 8 10 6 16 26 120
40 24 |35 | 16 | 38 | M8 | 54 | 114 | 8 6 | M12%1.25 | 44 | 77 | 4 |205| 16 |36 | 10 | 13 | @ | 20 | 30 [135
50 32 40 | 20 (465 MB 64 | 14 10 | BS  M16X15 61 | 78 4 30 | 17| 61| 10 | 17 8 27 | 37 144
63 32 45 20 565 MB | 75 | 3/58 124 10 M16x1.5 54 87 4 35| 17T | 686 10 17 8 27 37 1575
80 40 45 25 | 72 M0 93 3B 125 8 M20x15 624 952 4 36 17 105 10 22 10 345 46 1735
100 40 | 55 | 25 | B9 (M0 110 | 1/2 | 11.8| 10 | M20x15 (698 (1004 4 | 38 | 17 B8 125| 22 | 10 | 38 | 51 |189
125 |54 |60 | 32 |10 [M12[134 | 12 | 13 | 8 | m2rx2 | 83 [ 124 | 6 |a4a7| 22 |14 [ 10 | 28 | 12 | 46 | 65 [225
$p2R 5t Overall Dimensions W ;& WHF 8 /Double Piston Rod Type DNC-D-S
Il
z = @ I -
2 -5 L 3 O N Pl [ | S | P fi
=] A E ‘el
| Il -
i
VD
ZB+iT M (Stroke) VD
L15+iT ¥ (Stroke)
R~} 3% Dimension Sheet
A{%/Bore 32 40 50 63 80 100
B 30 a5 40 45 45 56
L15 46 165 180 185 220 240
VD 16 20 27 27 345 38
ZB 120 135 143 158 174 189
DNCB FIEESIT
DNCB Series Booster Cylinder
##g Specification
&1 1F & ./Motion Pattern 2 57 38 A 22 [Fitered Air
i} & 3238 [& h/Compression Pressure 1.5MPa
16 % {8 FH & h/Max. Operating Pressure 1.0MPa
AR EE H/Min.Operating Pressure 0.1MPa
¥4 ;8 fE/ConditionTemperature 5~T70°C

'DNCB-50x25x50

B fESTH2TAE M HERMEMITRMISO1S552EE SEEN, FE2ENS BIESIR
thh, 29 E A [ENEESRABERHE S EHERE—EETRE.

Booster cylinder combine 2 or more 1S015552 standard cylinder with the same bore and stroke,
Create twice or multiple force as standard cylinder. The connection of 2 or more cylinders are linked
with the same material Compact structure and easy for installartion.

HIDRAULICA - NEUMATICA - ELECTRONICA |
@ 1135852811

“Q~ 114241 1370. 1142254987

www.tecnoautomat.com

Direccion Rio de Janeiro 2740 Lanus Bs.As.



TECNOAUTONV)

ASESORAMIENTO Y SERVICIOS

A3

S| £HIS06431FESIL
Sl Series 1506431 Standard Cylinder

T Ordering Code

sl — 50| x [650] — [26] — [S8] — [LB
RIfKES g T3 WEiTiE HAEHS EERRN Fixed Type
SEISOG43 1465 4 W ah B Cylinder Bore  Stroke Adjust Storke -d=B % - TEEER Blank:Normal type
SID:ISO643 147 ik T 44 & &h 5 25:26mm S EER LeWEEESR LB:front and back fixed type
SIISOB4IMMITIR A AR 50:50mm Magnet Code FAREERER (ML) FA:front cover fixed type(Front flange type)
Series Code 75:75mm Blank:Without Magnet  FB:E BB Z8(F:&2)  FB:back cover fixed type(Back flange type)
$1:1506431 Standard S:With Magnat CARERER(MER) CAback cover fixed typa (Single Earring)
gusl,m;onsch;n;, e T CEEEMEN(MERE) CB:back cover fixed type(Double Earring)
&I -Qluu qu lczl.::u‘rame e TC: o fil] $5 4% % TC:Central Trunnion Type
STJ:lsog-zm Twamrsp SDE:REEER(HELY) SDB:back cover fixed lype
Stroke Adjust Type
A AL H Internal structure
e &5 e &
_— R NO. Designation NO. Designation
=
1 i& M 4T 48 6}/Piston Rod Nut 2 i& M4 /Piston Rod
F 3 i 3 % 4 [8/Front cover seal ring 4 0O%/0-Ring
I 5 & bRk /Bearing 6 ¥ % /Front cover
o = | || — g\- { 7 #%{k0% Buffering O-Ring 8 % % #F Piston rod O-Ring
g 9 ST /Barrel 10 & E/Piston
1 2/ 3/al 5 11 i [ IF./Wear Ring 12 B %7 ik Magnet(Optional)
13 & ®O%/Pistion O-Ring 14 % 0% /Pipe wall O-Ring
15 4 {k/Damping 16 M7 ¥R ¥/ Hex sockel screw
17 f& #/Back cover
#L1%& Specification
M iZ/Bore(mm) 32 40 50 63 80 100 125 160 200 250 320
#h 1€ 8¢ X/Motion Pattern # 71 8/Double Action
T 1€ 4+ F/Working Medium 2= 4 /Air
EER 5 /Fixed Type & A B/Normaltype FAR/Type FBE|Type CABType CBEIType SDBE/Type LBEIType TCHEIType
{# F JE H 3@ /Working Pressure Range 0.1~0.9MPa
{#IEA = h/Ensured Pressure Resistance 1.35MPa
{2 {1 C/Operating Temperature Range -5~70°C
{# F 1% & {5 [¥]/Operating Speed Range 50~800mm/s
5 B . /Buffer Type @] 18 4 i /Adjustable Buffer
i 172/Buffer Stroke 24 32 42 33
E¥ 0/Port Size G1/8" G1/4" G3/g" G2 Gafa" G1"

HIDRAULICA - NEUMATICA - ELECTRONICA
“Q~ 114241 1370. 1142254987

(O 1135852811

www.tecnoautomat.com
Direccion Rio de Janeiro 2740 Lanus Bs.As.



m\#% SI £HIS06431iF ST A4
TECNOAUTO S| Series 1S06431 Standard Cylinder

ASESORAMIENTO Y SERVICIOS

S i HE Cylinder theory output

%Hrﬂ?r E%thfeﬂ;& S - En%rfggicn %2 % [£ h/Air Pressure(kgflcm?)
inside Diameter [Potion Patterm 2
Diameter! of Piston Rod Area(cm’) 1 2 3 4 5 6 7 8 9
2 15 3.3;% FEfM Press Side 8.04 8.04 16.08 | 2412 | 3216 | 4020 @ 4824 5628 | 6432 | 72.36
Action | H1#/Pull Side 6.90 6.90 13.80 20.07 27.60 34.50 41.40 48.30 5520 @ 62.10
40 16 gﬂb% [EMPress Side 1256 1256 25.12 37.68 50.24 62.80 75.36 87.92 100.24 | 113.04
Action = i M/Pull Side 10.55 10.55 21.10 31.65 42.20 52.75 63.30 73.85 8440 @ 9495
50 20 ﬂ.,;‘f, [EMPress Side 19.63 19.63 39.26 58.89 78.52 98.15 117.78 | 13741  157.04 | 176,67
Action | #ifM/Pull Side 16.49 16.49 32.98 49.47 65.96 82.45 98.94 11543 | 139.82  148.41
63 20 &m!z EM/Press Side a7 37 62.34 93.51 12468 15585  187.02  218.19  249.36 280.53
Action {2 #M/Pull Side 28.03 28.03 56.06 84.09 11212 14015  168.18 @ 196.21 @ 22424 | 252.27
80 25 go?i [ #Press Side 50.26 50.26 10052 150.78 | 201.04 25130 30156 35182 40208 45234
Action | #M/Pull Side 45.36 45.36 90.72 136.08 = 181.44 22680 27216 31752 32688 40824
100 25 gﬂ% [EM/Press Side 78.53 78.53 15706 23559 @ 31412 39265 47118 42882 628.24 | 706.77
Action | HL/Pull Side 71.47 7147 14294 214.41 285.88 357.35 4268.82 500.29 517.76  643.23
125 32 gﬂ?& & M/Press Side 122.72 12272 24544 368.16 490.88 613.60 736.32 B59.04 981.76 1104.48
Action = 1 #M/Pull Side 114.68 11468 22936  344.04 | 458.72 57340 68B.08 80276  917.44 1032.12
160 40 li?b% [EMPress Side 201.06 20106 40212 60318  804.24 100530 120636 1407.42 1608.48 1809.54
Action = HifPull Side 188.49 188.49 a76.98 565.47 753.96 94245 113094 131943 1507.92 | 1696.41
200 40 &:‘E [EMPress Side 314.16 31416 62832 04248  1256.64 1570.80 188496 2199.12 2513.28 2827.44
Action | $if/Pull Side 301.57 301.57 603.14  904.71  1206.28 1507.80 1809.42 2100.99 241256 2714.13
Bog{ﬁ%} # 17 H/Standerd Stroke ;M‘af??r::ie fPermﬁ:;ngzStmke
32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 1000 2000
40 25 50 75 B0 100 125160 175 200 250 300 350 400 450 500 600 700 BOO 1200 2000
50 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
160 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
200 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000

B HRITRINSAQRAKAR, RNSVBRMEREM.

If you need special stroke,please Tell us, we can make according your require.

42 R <F Overall Dimensions b 250~ 4 320 SIR¥|/Series

H B A+{TiR(Stroke)
C D 1# 1% ¥ 8 (Buffar nut) D E

= :____0;/__ _________ 1w I8
= €< )

R} % Dimension Sheet

M{E/TFS Bore/Symbol A B (2 D E F G H | J K L M S T (0]

250 200 105 &7 52 10 a0 n 84 a0 50 MA2 =2 M20 | €30 270 220 G1°

320 218 120 a2 52 10 110 n 96 110 63 M4B =2 M24 | ¢34 340 270 G1°
HIDRAULICA - NEUMATICA - ELECTRONICA | www.techoautomat.com

(O 1135852811 “Q~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lantis Bs.As.



